THIS DRAWING IS UNPUBLISHED.

RELEASED FOR PUBLICATION

20

@ COPYRIGHT 20

ALL RIGHTS RESERVED.

SCREW, #10-32 UNF-2B
6.35 HEX HEAD WITH CROSS RECESS

~ = 10.37
2 PLACES
L J L] L J d?
% g u g % g ﬂ 4.57

2 PLACES

) LT — JUEBER
— = 14.25
30.23 2 PLACES

A W @ 5.75

3 PLC )10.23 C'BORE X 10.15 DEEP

2 PLACES
W)

)

\LO_/
-

T~
L
|

/ \“1(“

(5

N
)\
—

I\

]

£ PO

e
N
|

—
1 j
I

%

10.00

D

—=r= 30.23+1.02

N
18.29
L (o
“1/
11.13 \%\ v H
950 — =
SCREW, M6 - 1
6.35 HEX HEAD WITH CROSS RECESS,
3 PLACES
—— 30.231.02
SR 4D V\
I

|

21.00
2 PLACES

|

:{

JATL |
8/

GROUND LINK

ACCEPTS RING-TONGUE OR
OPEN SPADE TERMINALS

6 PLC A

- 1 { 0.50+0.02

I I

10.16 MAX

2 PLACES

SECTION W-W

86.23+0.15

) 6.50 REF

3 PLACES A

— 26.78+1.52

LOC

DIST

REVISIONS

—=

ACCEPTS #4 THRU #10 AWG WIRE

AF 50 P LTR DESCRIPTION DATE DWN APVD
H4 REVISED PER ECR-12-009158 23MAY2012 KH GJ
H5 REVISED PER ECR-17-007883 2JUNE2017 ST D
H6 REVISED PER ECR-17-012461 31AUG2017 ST D
SCALE 2:1
A MATERIAL.:
HOUSING: PBT, UL 94 V-0, COLOR:BLACK
SCREWS (6mm AND #10): STEEL
CLAMP BLOCK: ALUMINUM
GROUND LINK: COPPER
A FINISH:
e6mm SCREW: ZINC
#10-32 SCREW: NICKEL
CLAMP BLOCK: TIN
A REFER TO TYCO ELECTRONICS DRAWING
C-1604281 FOR REQUIRED SCREW.
A DESIGNED FOR USE IN ELECTRIC RANGES AND RECOGNIZED UNDER
UL/CSA REQUIREMENTS; CONDITIONS OF ACCEPTABILITY APPLY
PER UL FILE, SEE APPLICATION SPECIFICATION.
A SCREWS PACKAGED 3 PER POLY BAG.
A SCREWS BULK PACKAGED, 360 PER POLY BAG
/7' SEE DRAWING C-1604281 FOR REQUIRED SCREWS
A PRELIMINARY - NOT FOR PRODUCTION
A OBSOLETE
=—=—43.00£0.38 =
IR |
— 5.00 26.00£0.38
2 PLACES
|
- SUPPLIED UNINSTALLED 6. 3 SUPPLIED UNINSTALLED /5 1604532-9
3 SUPPLIED UNINSTALLED 6 - NOT SUPPLIED A 1604532-8
: NOT SUPPLIED 7\ 3 INSTALLED 1604532-7
3 SUPPLIED UNINSTALLED 6. 3 INSTALLED 1604532-6 /o'
: NOT SUPPLIED 7\ : NOT SUPPLIED /5 16045325 /o'
3 INSTALLED 3 SUPPLIED UNINSTALLED 5 1604532-4 8
3 SUPPLIED UNINSTALLED /5 3 INSTALLED 1604532-3 8
3 INSTALLED 3 INSTALLED 16045322 o\
- NOT SUPPLIED 7 3 SUPPLIED UNINSTALLED A 1604532-1 8
QTY #10-32 UNF QTY M6 - 1
ASSEMBLY
SCREW ASSEMBLY PART NUMBER
OPTIONS
THIS DRAWING IS A CONTROLLED DOCUMENT. DWR”QFLAIG 09NOV2004 - N
DIMENSIONS: TOLERANCES UNLESS CHDK DECKER 09N0V2004 _— TE TEC t ty
’ OTHERWISE SPECIFIED: APVD 09NOV2004 NAME
mm D DECKER ASSEMBLY, TERMINAL BLOCK
?gtg i- PRODUCT SPEC A LOW PROF'LE
QI 2= e POWER BLOCK
4A’\|T(L3(EES + i1o 1 14-1 31 00 SIZE CAGE CODE DRAWING NO RESTRICTED TO
MATERIAL -A FINISH ] A WEIGHT ] A1 00779 @‘:'1604532
- - CUSTOMER DRAW'NG SCALE 21 SHEET 1 OF 1 REVH6

4805 (3/11)




	Sheet 1
	Views
	main_view
	top_1
	bottom_1
	right_3
	new_view_5



